NT3011 1614303

2019(0dd)

Time : 3Hrs. Sem - III/Chem. Engg.

Industrial Chemistry

Full Marks : 70
Pass Marks : 28

Answer all 20 questions from Group A, each question
carries 1 marks.
Ju-A ¥ afl 20 ¥ B SR T, IAP U BT 9F 1 352 |
Answer all Five questions from Group B, each question

carries 4 marks.

9B & @t ufg uel & IR <, UAS U & 9H 4B 2 |

Answer all Five questions from Group C, each question

carries 6 marks.

7u-C & uft ufg gl & SR <, IS U BT 99 635 2 |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
TH U & O e BT SR U@ &) TR (AR & o)
BT AMRY, =41 4 Sifd T8 o ¥ahd © |

The figure in right hand margin indicate marks.
¥ ursd @ e QUile & qad 2 |
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10.

NT3011 NT3011

OR (312r14T) (ii)

How will you distinguish between primary,
secondary and tertiary alcohol by Lucus test and
Victor Mayer test.

yreafis, fgdae ik e sewled § @R
&g udieer U fager AR o | qand | i)

Discuss Langmuir adsorption isotherm curve.

6
AR JARRINYT FHATd g% &1 quid @ |

OR(ST?JWT) (iii)

How are the following conversions carried out ?
(1) Benzyle chloride — Benzyl alcohol

(i1) Methyl magnesium bromide— 2-methylpropan
-2-01

fr=faRaa aRad=t &1 fog yer fear wir (iv)
AHdl & ?
(1) afra FeiRIgs — dfvoTa Yedlara

(2) At ANREH giwse > 2 Al
qIue —2— 3ifdl

3 1614303

fdR a1l SId-T UR BT B
CH, = C= CH,

(1) Sp

(¥) Sp?

(&) sp’

(3) Spd

The carbon-carbon bond lengths in benzene
molecule are

(a) 1.22 A°

(b) 1.34 A°

(c) 1.39 A°

(d) 1.54 A

459 V] H HrdA—bId a6l Bl
TS B @

(@) 1.22A°

@) 1.34A°

@) 1.39 A°

@) 1.54A°

The equation for Freundlich adsorption
isotherm is
(a) x =mkp
(b) x = mkp"

(c) x = mkp™-1
(d) None of these

1/n
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GROUP -C

Answer all Five Questions.

Il uig 9 & SR < |

6x5=30

7. How will you convert ethanoic acid into benzene ?
6

AT YASP 3+ Dl doi4d § 9 yRafda
P ?

OR (3121an)

Discuss one component system on the basis of

phase rule.

Pl 9 @ TR U one component system
D AT BN |

8. How chloroform is prepared from bleaching powder?
What happens when chloroform reacts with.
(1) Aniline

(i1) Silver powder

NT3011

(vi)

(vii)

(vii)

(viii)

5 1614303

s 9 DI A1 AHad FaATD
vfsraely 94rar 2 |

(31) C,H50H + H,O solution

(§) CgHg + CgHsCH; solution

() HNOj; + H,O solution

() 3 9 BIg T8

Which of the following compounds gives
silver mirror with ammonical silver nitrate?
(a) Benzene

(b) Benzal alcohol

(c) Benzal chloride

(d) Benzaldehyde

o el 9 9 9 Wit Red
Ricax Arsde & e Rieax gdor qar
2 ?

(ar) ash=

(%) 99 3redigd
SIECGEGIKNES]

HEELEISHES

The catalyst used in Friedel-Crafts reaction is
(a) Copper

(b) Platinum

(c) Aluminium chloride

(d) Sodium

P.T.O
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4.

What are differences between Aromatic and
Aliphatic compound ?

wiifed vd vfewfed difire § ¢ X @ ?

OR (3121a1)

NT3011

4

Calculate the number of phase (P) , component (C)

and degree of freedom (F) for the system.

Na2804 . 10H20 (S) # 10H20(g) + Nast4(S)

9% JAT® B (P) , AT (C) a1 I
ATE fsH (F) &Y T0ET 9 IdveqT & forg

B |

Na2804 . 10H20 (S) = 10H20(g) + N32SO4(S)

How phenol obtained from coal-tar ?

dlIddR 4 fPdTad 9 YT ddr 2 ?

OR (3121a1)

How benzene reacts with following
(1) H,SO4
(if) CH3COCt

NT3011

x)

(xi)

(xi)

(xii)

7 1614303

CH; - O - CH; &T 3118 ogotloVoflo -1
27

(31) sforeli asrawTsS

(9) srsfienge =R

(3) foreme ==

() 3 4 BIg T8

Which of the following is used for testing
the presence of sugar ?

(a) Glycerol

(b) Conc. HNO;y

(c) Fehling's solution

(d) Benedict's solution

1 A &9 |1 PR @ gdEer § gAT
gar 8 ?

C)REIMENE]

(@) ar= aEfe® sr

(@) wefeT &1 wla

(%) d9fsae &1 =i

The reaction of Cl, with hot NaOH gives :
(a) NaCt

(b) NaC/, NaOC{

(c) NaClO4

(d) None of these
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xx) il s & siffeear o3a
qdr g ?
CIEISIEIES]
(q) Sef=
(\) wiifesd <
(%) SATSA Aehigd

GROUPB

Answer all Five Questions.
g+l ufg gyl & SR T
2. Give IUPAC names of the following compounds :
(i) CH; - CH - 0 - CH,CH;
CHj

4x5=20

OH

(ii) H3C© CH,

NT3011 9 1614303

(xiv) KMnO, THifect &1 anafiga &ar 2 |
(@) wdiifed s
() smaiferd 3t
(@) wfrer
(?) 79 4 ®Ig 7

(xv)  When phenol reacts with ammonia in presence
of ZnC4; at 300° C it gives:
(a) Primary amine
(b) Alcohols
(c) Ether
(d) None of these

(xv) Wl IFR—T & "1 ZnCL, DY
SuRefa 9 300" ax f¥rfear & Qar 2:
(31) grerfia vHE
(9) sredbigd
(|) =R
(?) 379 & BIg L

(xvi)  The fragrance of ester is
(a) Like egg
(b) Like fruit
(c) Like fish
(d) None of these
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